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Identify a line or segment in Circle K that is described by each term:

1. Chord [\T_:]q‘ 4. tangent XZ
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XE and BD are diameters. Find the indicated measure

6. mDC 35° 8. mBC |80™-35°
— — = ll’\so

7. mBEC . 9. mED
20~ 14S =567 [€0-92-35=532°

Find the value of the variable(s). Give a REASON.
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Name any congruent ares or chords. State the REASON they are congruent I "H— Y ] G\»“JIO m’c +ar.
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Write the standard equation of the circle with the given center and radius

26. Center (0,0); Radius 4 27. Center (5,—7); Radius 9
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Give the radius and coordinates of the center of each circle. Graph the circle. * - 3 X+lp "*_"j C’L
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Find the measure of the arc or central angle indicated. Asume lines that appear to be diameters are
actual diameters.
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Find the length of each arc. Round your answer to the nearest hundredth.
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Find the segment length indicated. Assume lines which appear to be tangent are tangent.
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Solve for x. Assume lines that appear to be tangent are tangent. Give a REASON for your equation.
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Determine if line AB is tangent to the circle. State a REASON.
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Find the value of x. Assume lines that appear to be tangent are tangent.
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FG is tangent to circle C

AD is a diameter of circle C
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